1. The industrialized nations need more energy than ever before
-> Ferlaufsform prasent
There is more energy needed by industrialized nations than ever before

2. Live on our planet is seriously in dangered because of burning fossil fuel.
-> Live = Abstrakter/Algemein befrif -> ohne artikel
-> verursacher pasif: by stat because of

3. Measures to decrease greenhouse gases were decided at the environment congress
- Gipfel = summit
- Measure = masnahmen

Measure to reduce greenhouse gases were taken by an envirumental summit.

4. good progress has been reacted in the environmental sector
-> progress plural=singular

5. Laws were made to support alternative energies in some industrialized countries
-> gesetze verabschiedet = to pass a law

In some industrialized countries laws were passed
to support alternative energy sources

6. Money was released to research effects caused by global warming
zur verfigung stellen = made available

Money was made available to research the consequences/the impact of
global worming more exactly/ acurately

7. they hope climate-change can be stoped
-> Personliches passiv
It is hoped climate-change can be stoped

8. Many plants and animals coul'd extinct, if the earth didn't stop getting wormer

Many plants and animals will become extinct if the earth is getting wormer and wormer
-> to extinquish / fire extinguisher



